€ YAMAHA

UBRACKET

UB-DXR15/UB-DXR12/UB-DXR10/UB-DXR8

OWNER’S MANUAL
EXiREREA S

TTTINIL . PLEASE READ CAREFULLY BEFORE PROCEEDING

* Please keep this manual in a safe place for future reference.

A Always follow the basic precautions listed below to avoid the possibility of serious injury or even death from electrical shock, short-circuiting,
WARNING damages, fire or other hazards. These precautions include, but are not limited to, the following:
e |f the bracket arms are attached to the top and bottom surface of the speaker, do not install the speaker vertically.
Otherwise, the speaker weight may cause the bracket to bend. @ @

A Always follow the basic precautions listed below to avoid the possibility of physical injury to you or others, or damage to
CAUTION the device or other property. These precautions include, but are not limited to, the following:

* Before doing any installation or construction work, consult with an installation expert.
A * Make sure that the surface this bracket is being mounted on has the strength to handle the weight of both the speaker and this bracket.
* Use bolts and nuts as well as washers for installation and tighten them firmly so that the speaker is secure and does not move.
¢ Always loosen the corresponding screw before adjusting the angle or direction of the speaker. Never force this adjustment with the screw still
tightened.
» Some fittings may deteriorate over extended periods of time due to wear and/or corrosion. For optimum safety, the installation should be
checked thoroughly at regular intervals.

Yamaha cannot be held responsible for damage or injury caused by insufficient strength of the support structure or improper installation.

* Illustrations herein are for explanatory purposes only, and may not match actual appearance during operation.

* Company names and product names herein are trademarks or registered trademarks of their respective companies.

* Specifications and descriptions in this owner’s manual are for information purposes only. Yamaha Corp. reserves the right to change or modify
products or specifications at any time without prior notice. Since specifications, equipment or options may not be the same in every locale,
please check with your Yamaha dealer.

RELEDCEER CERADHIC, BRFCD [RE2ELEDTEE] BLLBHEHLEEL,

CZICRUICEREER. HRZERSICIELK THEAVEEE, 8FHRCEDNDH L NDBEEPHENDEEZRACHLTIDDEDTY , BiFHTFDLIEEL,
BITH e ElF FRASNESANVDTERSNBMICHTFREL TIEEL),

W ESKRRICOWVT
CORBPEIRFPAEICRRESNTVBELSICIF. ROKDILFRKNDODET,

S | ~LmsuTEEVENS [#iE] ERLET.
@ | TBTEE] LTKREVEVDSHFIERLET.
« AE—A—OXREEEEICRO M TR THEICH U TEBSEIC LTEALEV T 28V, RE—A—DBRICE>TIST v M

OB BZNDBHET . @ @

14

¢ REBIUMDMIFIHICDOEXLTE. FPIDEE(ICTEBELTIEE L,

 MOMITORRE. RO HITENEEICTOMA SNDREHH DD 3D L TEALTIIZE,
P WORFICIFRIL b Ty b BROBERZEALT. RE—D—DEHIENK S ICHERICHEH T ZEL,

e AE—H—DEE. HFH0REF. HFEHTDIRIZDDDTHSTEO TSV, RIZDDHENTHEECEH SHENT LS,
e RECTHEAVEEL e, EFRNICRTRIRETE O TSV BERPEBIELICKD. B@mDSHETDHEEDHDET .

D AHFERROBRENEL. D RHITHEDMBICLDTE FEEDEHTH U TIE, HtE—IDRETZEVDRFET,

* CORBHAECEEHINTVDRHRBIUBREIF, SHOBREESIOBIERCT.
* CORFHBETBHSN VDA S ME. IRNTRIEHRADCHDBHDTT . UL > CREEDAHREREDBEDHOF T,
RSB RUNAIEHURDICHFELFLEET D ENHDET,

EN
JA

H#F




Thank you for purchasing a Yamaha product.
Before you attach the U bracket to your speaker, please be sure to read this Owner’s Manual.

Package Contents

@ Brackets X2 ® M8 flat washers X2
@ Rubber spacers, 10mm thick X2 ® M8 spring washers X2
® M5x10 screws with flat washer and spring washer x4 @ Bottom plate x 1
® M5x16 screws with flat washer and spring washer X2 ® Spacers X2
@ M8x25 hexagon bolts X2 ® Owner’s Manual (this book)

Installation Instructions

/\ cauTioN 4 Use the included M8x25 hexagon bolts, spring washers,
¢ Make sure that the wall surface is strong enough to support the and flat washers to attach the speaker to the U bracket.
total weight of the speaker and the U bracket. Avoid attaching the
U bracket to drywall, such as acoustic tiles. m UB-DXR15 / UB-DXR12

* Secure the speaker to the mounting structure with a properly

rated safety wire. Use the bolt hole in the center of the handle on each

side of the speaker.

Vertical installation

Hexagon bolt

. : (SN /
1 Assemble two L-shaped brackets into a U-shape using 6.

the included M5x10 screws as shown in the figure below.
Peel off the sheet from each rubber spacer, and then
attach the spacers to the inside of each bracket arm by

. Hexagon bolt
aligning the holes so that the hexagon bolts can be

inserted.

_ M5x10
3 \

=

N % m UB-DXR10 / UB-DXR8
o .
— . ° o 00 S Use the bolt hole on each side of the speaker.
Q

S/

|
M5 x10

2 Make sure that the width of the U bracket matches the
speaker width.

Hexagon bolt

3 Affix the U bracket on the wall or ceiling using
appropriate metal brackets and bolts.
These metal brackets or bolts are not included in the
package. If you are not sure what to use to affix the U
bracket, consult a specialist.

5 Adjust the speaker angle, then tighten the bolts until the
speaker is securely affixed.




Horizontal Installation

1

Attach the bottom plate to the bottom of the speaker
using the included M5x16 screws, as shown in the figure
below.

The bottom plate for DXR10 features a different shape
than the one shown in the figure.

Bottom plate for
DXR10

Srasn

Assemble two L-shaped brackets into a U-shape using
the included M5x10 screws as shown in the figure below.
Peel off the sheet from each rubber spacer, and then
attach the spacers to the inside of each bracket arm by
aligning the holes so that the hexagon bolts can be
inserted.

Make sure that the width of the U bracket matches the
speaker width.

Affix the U bracket on the wall or ceiling using
appropriate metal brackets and bolts. There will be a
slight gap between the U bracket and the wall surface.
Insert spacers into the gap and affix them with bolts.
These metal brackets or bolts are not included in the
package. If you are not sure what to use to affix the U
bracket, consult a specialist.

5 Use the included M8x25 hexagon bolts, spring washers,
and flat washers to attach the speaker to the U bracket.

® UB-DXR15 / UB-DXR12
Use the bolt hole on the top of the speaker.

Hexagon bolt
h‘@-@._\_.

® UB-DXR10/ UB-DXR8
Use the bolt hole in the center of the handle on the top of
the speaker.

Hexagon bolt
(S b

Hexagon bolt

6 Adjust the speaker angle, then tighten the bolts until the
speaker is securely affixed.




DIMENSIONS / i%E

UB-DXR15 ) }

° ® ® | T S
3.2
315.5
411
476
?9

738
®8.5 ®9 @13
<= [an) ) E;} ] o €i}7:
o - ! <D o
,Z | ,

l—127
266.4 | 266.4
471
?8.5 ?9 ®13 ‘
5 == Zﬁ o <=
—H-e-—-O-—-oed—- ‘ ———
et =
N \Hm‘oﬂ _
l—127 Unit: mm
1332 —»}—133.2— Weight: 7.6kg
UB-DXR12 }
° ® o) T 7
3.2

266.5
356
411

?9 %

181 —-—-—- B Conbi ¢ R A I A r 80
RS = — E{} Ay =] © == '
l | | £
T
085/ 127 70 3 1°
250.2 | 250.2
397
389
@9 T125—> ®13

<RA\¢ <€ Xe €2
f————————-— b+

= f == t =

MSL 127 Unit: mm

125.1 —»h—125.1 Weight: 5.7kg




UB-DXR10

(B ® ®) )i T {7 T
3.2
2225
3275
370
&
9
I v A 2
#3.2
H
[P 551 1
‘ ®9 7 ?13 .H.
I — \«»#7 — m
106 f-——— o—-— - fq}—fo@ oo — - 56
i €5 o ‘0’ = 0‘" ° %—t
“4—1084 50.8 10
+«——120 —» 82
213.8 213.8
346
337
9 7 ?13 ‘
63\49 \ & €=
— 6 —bo o —
e | 4 e
‘stJ .
« 120 —» Unit: mm
213.8 Weight: 4.2kg
glE o o f dF T
3.2
215
293
333
9 &
1 T \Q Y
PP
‘ 498
‘ ®9 ~07 ¢13
T = =
T == o \Q 6%(9777 o @3*—;
101 A———- ©-——O— /P —0—6O-——0———- - 5+6
L ' A,
l == ° i EB‘;? -+ ° HE=iE
= I
‘nggjﬂso.a N g0 10
e 1842 — »le— 1842 — |
324
313 -
®9 ®13
eé\m o €
——0—%- ‘/ ————— -
= o 1 ?|€%3
‘%ngﬂ Unit: mm
e 184.2 ——» Weight: 3.7kg




€YAMAHA

Yamaha Pro Audio global web site
http://www.yamahaproaudio.com/

Yamaha Manual Library
http://www.yamaha.co.jp/manual/

C.S.G., Pro Audio Division
© 2011 Yamaha Corporation

110MWAP* *-**A0
Printed in China





